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Answer the Questions from any one O'ption.

OPTION-A
~ For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
( Plant Physiology and Metabolism )

OPTION - B
For Honours Generic
' Paper : BOT-HG-3026
( Environmental Biotechnology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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‘ OPTION-A '
- (Plant Physiolog_y and Metabolism )
Paper : BOT—HG—3O 16/RC-30 16

Answer the following as directed -

(i) Transpiration is a necessary .
: (Fill in the blank) -

P P . P ST TR <Ot AT I -
’lﬁz”"’;ﬂ:@ @‘: o s | : | (R I o )
. ose the correct ' . . :
(any seven) answer of the follo;m?g; (i) What is meant by ‘antitranspirant’ ?
AU 10 |ﬁ§“m '@% xX7=7 . |
A5 m»w@mﬁfﬁ (Ricset ‘gFERIEPITs W & @ e
(i) Which of the follow; | | | () Who proposed Active K* transport
0 .
absorbed by p]anglr;g forms of water is _n':echa:lis?m for opening and closing of
o Ron oy v o7
(b) HYgrOSCOpiC water ¢ @ S
() | Capillary water * : (b) L:y;e
. mﬂﬁm o awbove | Z) Fu}'r‘
] g SN jino .
(@) IR Q@I A CIR 3R siica 2 | WWWWWWW
(b) TS AR 4T - - | “Toifeam “}"‘-“ ARz o7 PP ?
c) N AHF | ' (@) TG
(d) AT SR . . (b) WIRE
(i) What is root preSSL;re . | : (c) G
T R | @ e

(vi) Name one instrument to measure the
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(b)) AR
(c) ==
(d) ©%7T @18 A

T etwR 29 SR7 sft @iy iR
fewi ) | ' |

(vii) Dieback disease is baused due to
deficiency of :

(@) zinc o S (ix) Vernalization was discovered by
+ (b)  copper _ ~ | (@ Garner and Allard
(c}:'?o.fén T | (b) Lysenko
() iron | (c) Kurosawa
TR R wrors (@ Miller.
@ Fe P R R
o . ' | (@) MR SR G
0 == o b A
o o
) anaocason war ok orEsnic solute | @ e
- (a) Fenson . () What are thyllakoids ?
(b) Spanner o : | QEERRvER ﬁs‘? |
(¢) Munch | o B
(d) None of the above , : a) g;zigi;athrzsi OZZS produced during
tmiw MISSEST TR BT WIS Wi <pizfRe (@) ATP and NADPH,
(a) (o
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(c) RuDP and RuMP 2. - Write short noteé on the following: (any
- (d)} GCgHy306 and PGAL - | four) ‘ | 2%4=8
. ,- {(a) Osmosis
mw e@w SR G (b) Guttation
{a) ATP 9= NAD4PH2“ , " (¢ Chloroplast
() HOowW® o, ' (d) Krantz anatomy
(C) RuDP 9% RuMP - "~ (e) Types of transplratlon
(d) C6H1206 R PGAL . o () Abscissic acid
(xu) Respiratory quotient (RQ) is represented ' (@) Photosynthetic pigments.
by , . (h Day neutral plants :
@ oN | s TR 4, (o B s (R SRR
®) M/0; (@ W
() 0yco, - | (b) FER
(d) COy/0, . | (c) FAT A R
PFR S (RQ) e | (d) @G T IIA
@ C/N | o () OTATR S
b) Ny/O, () R 9o
() 0GyCO - (g) TITARREETS IGS TJ
(d) COyYO, ‘ (h) Fn Weaesr O
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3.

. Write short notes on
- three)

{a)
()

©

(d)
(e)
0

{9

W

the following: (any
. 5x3=15
Components of water potential

Cohesion of water and transpiration
pull theory

Photorespiration

Mechanism of enzyme action
Auxins

Anaerobic respiration
Vernalization

CAM -

WWWWM (ﬁmw@ﬁw)
(a) @ﬁﬁw@?ﬂw

(b) AT FAE W% 2rwm T g

(c) SRR '

(d) <wEIFR FnRE

(e) i3m

() RIS Pw

(9) w@asacr.

() CAM
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4.

Answer any three of the following

" questions :

10x3=30

<o e fofbr ey Tel 31 ¢

(a) What are different sources of nitrogen

- biological nitrogen fixation.

(b)

lants ? Describe the
for -higher p e et

SRR QI ARG RioH SopnR
E&TQ%H@WW«W?@W\

What is translocation of organic solute ?
Describe “the | mechanism qf
translocation of organic solute in plants
with the help of pressure flow model.

o T AR &2 Biel SRR AN AT

| WMWWW?@WI

(c) Describe different types of factors

(@)
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affecting the photosynthesis.
AR ooR (ARl [fen e

FIRITE I 0

What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic

electron transport in photosynthe31s
2+4+4=10
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ARG B2 Aceiretecsm sy o | OPTION - B

(e) Describ t'h” VI R T  (Environmental Biotechnology)
Pathwa;, “fﬁihemmal process of EMP - Paper : BOT-HG-3026
EMP path ¢ about net product of ' '
pathway, 8+2=10 1. Answer the following as directed : (any
EMP 3 3piiafis s ' . seven) : 1x7=7
P 39 :1 =% EMP . - ' T fmt ¢
. aﬁa@@mﬁmm' _ ﬁtm)wmmm ﬁmq(ﬁ?m
m GiVe a detail ‘ i 377\957 : -
: ed
cycle. Mention itaccf)ur.lt of the Krebs (a) Which one of the following is not a
r— S. Significance, natural pollutant ?
R e SO,
(@ What is . N @ o
Photoperiodi .
. th sm?D
phitligant.s are classified on tlljgtllgss _how - CO
periodism, zizlsl%f ' (iv) Pesticides
WW&?MWMGW , | RS @R APed AT T
25%”33 NTE ST R} %F@"T’f’lﬁ A ) SO '
" w TN R o | i) €O
) ' ]‘)Nil'sl(a:.]tlslss F}iant growth regulator 9' ) (iil) C02
' ¢ physiological roje of (iv) I

Gibberellins in plants
(b) What is the full form of DDT ?

e 3% ﬁm%?%ﬁ@m%«ﬁm | ‘
R R s TR MRs . DDT 3 7=} aiw- e
(c) In which year the UNESCO launched

the ‘Man and Biosphere Programme’ ?
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(d)

UNESCO % oR 3 ‘TIFRWR% tmwa
TPH) eRdw IR 2

Minan:lata diseas_e caused due to
pollution. (Fill in the blank)

| oot @ . AvFds Qe = |

(e)

- Xenobiotic compound ?

(=T 52 979 W)

Wl‘ité two nazi
mes
o s, Of bacterlal

gfﬁﬁmwwqﬁa@@ﬁwm

Which one of the following is a

(i)  Polychlorinated _b1phenyls

(i) Peroxyacetyl nitrate

(iii) Chlorofluorocarbon
(iv) Ultraviolet ray )

e @R @RS sy o
() FPRETES IR

(i) CRREADOIZT TGS

(i) TR

(iv) SoRER Iy
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(g)

(h)

Lignosulfonates are released from

. industry. (Fill in the blank)
RoRsEeEs _ SreR o[t e =l
(T 3% 799 )
What is ozone ? ‘
oy e

" Which one of the following is a unit of

radioactivity ?
i) ppm

o (ii) curie

0

(k)
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(iiij) decibel

(iv) nanometer

G (P! (TTHTS! T2

(i) - fofsiam

@) T

(i) o

(iv) WRBR

Where is Chilika lake situated ?

@ iz Bl I wiye?
Write the full form of WTO.
WTO 3 =y 7 fon)
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() Which one of the following is a Ramsar
site ? o :

() Kaziranga National Park
(ii) Majulee River Island
(i) Deepor Beel
(iv) Brahmapgtra River ,
RS G 7R T3 7 o e
() fe=e g Sym
(ii) R AR
(iii) AT e
(iv) TwE
2. Write short answers : (any four)  2x4=8

=S o3t S ot ¢ (Riearr mifay)

(@) Advantages and disadvantages - of
aerobic ponds.

Wﬁ@ﬁmwmww@mm._

(b) What is radionuclides Give one
example.

[CAFOHT &2 TR <t Swrmet foray
(c)' What do you mean by biocbncentration ?

(eI M R @i
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(d) Write a note on biomining.
T ECE @S (R ferd
(e) Write }a very short note on Brundtland -

() Principles of Forest Conservation Act,
1972. -
SR T SR (5993) I T TPR

| (g) Silent Valley Movement.
T Torere ACHIEH |
(h) Xylanases
AN

any f the following :
3. Wri’ge notes on any three o owing
e R AR @si® (ORFl vl ¢
(@) Global environmental problems
g oAfRTe IR TEIPRR
(b) Upflow anaerobic sludge blanket

reactors.

el SRS (o oIt e

' ‘ | ‘ Contd.
3 (Sem-3/CBCS) BOT HG/RC/G 15 | o



(¢) Role of nitrogenous compounds in air
pollution

RS AN T s g
(d) Trickling filter
- ool R
(e) quporafe social fesporisibility
(1 Salient features of Kyoto Protocol, 1997
TR B (3554) 7 el [SIRERP ey

(g) Constitution of Centra] and State
Pollution  Control Boards .

@@NWW&‘@‘TMWW
2ol ‘

(h) Treatment scheme of waste
tannery industry

c‘b‘ﬁa%mﬂaaﬁﬁ%ﬁﬁa?ﬁmmam .

water of

4.  Answer any three of the following
Rzt fofast e e foray ¢

(a) What is greenhouse effe
the possible environme
global warming. Writ
greenhouse effect can

ct ? Describe
ntal effects of
€ briefly how
be minimizeq.

~ 2+5+3=10
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o)

(c)

(d)
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FoE oz Rwe e R TIRIR AR
Wﬁﬁsﬁsm@amm' (AL
e oz AR TR IR AR AR TP
4 = |

What are pollutants ? Describe.the fate
of different pollutants in the

environment. o 2+8=10
oS 62 AReers Rfew e el &
3 =4 | .

Describe the Montreal Protocol (19_87).
How does it differ from recggm(lfggzarons
i it-UNC .
of Rio-Earth Sumit- 22 o

' R e phre-
o b3 (Spba) I |
UNCED (555%) I SRR ‘csrw BuIg
@RRTS iRy =g

What do you meaﬁ by thsug,tainatbg
ibe the 1mpac
velopment ? Describe U
gzlstaipnable development on gross

. ‘e uality of life.
- national productivity and qua té+8=10

e Rt e & a2
ol Beslm %GR AT 89S
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_ , | (h) Write an essay on National
(e) What are xenobiotic compounds > How Environmental Policy, 2006. |
does xenobiotic compound affect the G sif{c™ s, 000 TECE A T Br |

living orgamsms ? Give suggestive

measures to mitigate this problem
‘through bioremediation. 2+3+5=10

Wﬂmﬂmﬁ?mwﬂm
TR BATS (PRI AT IRI iy
IR QR 4R T g

mﬁaﬁwn T

() Write a descriptive note on Water
Pollution (Prevention and Control) Act
1981. | |

. & e (oot o T‘:NE‘T) W, Sk
AHF GO RgS Gt By

(g9 Describe brleﬂy the role g d
n

participation of - women i
1n

environmental issues in India,

-'13@?‘ﬂﬁ@¢q3ﬁ$§hlWﬂﬂﬁﬂ{ﬁﬁ:ﬁﬂaﬂgﬁﬁq

% AR THH w?asacﬁn =0 |
4000 -
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